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Lecture seven: traversing Lecture: Ahmed Ashor
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Example: If the direction of the sides in a polygon ABCDA is as follows
AB =130°14', BC =50° 20', CD = 305°15', DA = 220° 10'

Calculate the interior angles of the polygon.
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Line | Forward Dir. | Backward Dir.

AB 130° 14" 310° 14

BC 50° 20 230° 20 N
o 1 Q0 ' C |

CD 305 15 125% 15 |

DA 220° 10" 40° 10" J
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~=AB 130° 14' S
A LEAD 010 130° 14'- 40° 10' = 90° 4
~A<BC 50° 20" 50°20' - 310° 14' = - 259° 54'
B SBBA 310° 14' +360=100°6'
44D 305° 15' R
c 5CB 30520 305° 15'- 230° 20" = 74° 55
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Example / if the exterior angles of the polygon ABCDA is
A =201°% B =315°% C =232°% D = 331°,

The forward direction of the line AB was equal to 29°10' . What is the value of
the forward and backward directions of the polygon’s lines?
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<[A=201°+ <[B =315+ <[C=232°+ <D =331°=1080°,
(n+2)*180=(4+2)*180=1080° .OK.
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N4 AB=29°10'"= BA=209° 10/
BC =BA + Angle to right = 209° 10'+315° 40'
BC=7524°50"-360°= 164° 50' = CB = 344° 50
CD=344°50'+232°20'=577°10'- 360 = 217° 10' #¥DC = 37° 10/
DA =DC + angle to right =37° 10" + 331° 00' = 368° 10' - 360 = §° 10'
= AD=188° 10" AB=188° 10'+201° 00'=389° 10'- 360 =29° 10



